10 {LE KISR YOLORN CARPMA
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1) 10x5 = 16) x10 = 70
2) 2x10 = 17) x10 =0
3) 4x10 = 18) 10x = 40
4) 7x10 = 19) 10x = 80
5) 10x1 = 20) x10 = 30
6) 8x10 = 21) x10 = 60
7) 10x6 = 22) 10x = 20
8 10x10 = __ 23) 10x = 50
9) 9x10 = 24) _ x10 = 100
10) 10x3 = 25) _ X10 = 90
11) 10x7 = 26) 10x__ =70
12) 6x10 = 27) __ x10 = 10
13) 5x10 = 28) 10x__ = 60
14) 10x8 = 29) _ x10 = 80
15) 10x2 = _ 30) 10x___ = 90
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Zihinden Carpma Etkinlikleri

:...3...X10=30: :..8..X10=80: :.12.X10=120] :..9..X10=90:
: ...... XlO=110: ...... X10=60: ...... X10=190: : ...... X 10 =60 :
i ...... X10=130j ...... X10=30: : ...... X 10 =70 : ...... XlO=120:
i ...... X10=150j ( ...... X10=70j ...... X10=40: :...X10=200 :
: ...... XlO=160: ...... X10=90: : ...... X10=ZO: : ...... XlO=210:
i ...... X10=140j ...... XlO=80: ...... X10=50: i ...... X10=1801
: ...... X10=170: ...... X10=60: ...... X10=40: :...X10=23O j
: ...... XlO=160: ...... XlO=80: : ...... X10=70j : ...... X10=90:
: ...... X10=140: ...... X10=ZO: ...... X10=IO: i...X10=23O j

Mucahitin icinde
bulundugu labirentten

clkmasina yardimei
olur musunuz?
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